
ITEM PART NO DESCRIPTION
1 332/134231031 MOTOR COVER
2 332/134159111 BRUSH HOLDER
3 332/134139023 FIELD 230V
4 332/134139133 ARMATURE
5 332/134139073 BRUSH
5A 332/134139074 AUTOMATIC BRUSH
7 332/134132251 BRUSH SPRING
8 332/134239285 BEVEL GEARS SET D230
9A 332/134239041 SWITCH GRIP
10 332/763267036 SWITCH
11 332/844800027 SCREW 3.5X14TP
12 332/134139081 CONDENSER GROUP
13 332/134134181 SLEEVE
14 CS 2.5M2CBLK POWER CORD
16 332/134131342 BALL BEARING COVER
17 332/134143011 DISC SPINDLE
18 332/134139202 OBTURATING RING
19 332/134139171 ALUMINIUM GEAR COVER
20 332/134171011 GEAR BOX
21 332/713721080 BUSHING HK0810
22 332/134131561 RUBBER RING
23 332/134132612 AIR GUIDE
24 332/134231862 OBTURATING RING
25A 332/134131592 COMPENSATION WASHER 
25B 332/134131591 COMPENSATION WASHER
26 332/134141601 RUBBER RING
27 332/134313141 SEATING FLANGE
28 332/134313391 NUT FLANGE
29 332/134109521 DISC SECURING SPANNER

ITEM PART NO DESCRIPTION
30 332/134235801 WHEEL GUARD D.230 
31 332/134135021 AUXILIARY HANDLE
32 332/742102220 JOINT RING OR22X2
33 B/6300ZZ BALL BEARING 6300-ZZ TN9
34 B/6000ZZ BALL BEARING 6000-ZZ TN9
35 332/844305288 SCREW M5X15PZ
36 332/846510069 SCREW 5X35TP
37 332/134251311 RING
38 332/844810142 SCREW 5X95TP
39 332/844810096 SCREW 4,5X65TP
40 332/844810085 SCREW 4,5X20TP
41 332/742032030 OBTURATING RING
42 332/134135781 FASTENING DISC
43 332/870810617 WASHER
44 332/840306289 SCREW M5X16 DIN933
45 332/135705211 WRENCH 8MM
46 332/134104232 CABLE FASTENING CLAMP
47 B/6203ZZ BALL BEARING 6203ZZ
48 332/849071151 SCREW M5X12DIN 7500-C
49 332/134154451 SWITCH BUTTON
50 332/830000197 PIN 3X32 DIN 7
51 332/757000380 SPRING
52 332/134154191 CABLE CLAMP
54 332/844800051 SCREW 4X20TP
55 332/134231311 BRUSH COVER
56 332/134231321 BRUSH COVER
57 332/860907119 NUT M10X1 V-3
60 332/134233851 COVER SUPPLEMENT

Issue: . . . . . . . . . . . . . . .3
Issue Date: . . . . . .280205

PARTS LIST FOR:230MM 2100W ANGLE 
GRINDER

MODEL NO: SGE230

SGE230 - 3 - 280205
www.sealey.co.uk01284 757500 01284 703534 sales@sealey.co.ukWeb email


